


 –



j

j

j

j

j

j

j

j

j

j

j

j

j

j

j

j

j

j

j

j

j

j

j



B

B

D E

F

383

25
9,

05

115

23
4

331,5

A+312

A

185

80

50 33

37 ±0,0121,5 ±0,01

26
8

M6x18/22 (2x)

6H7x14 (2x)

LF080



s [mm] t [s]

n
L
= 12 ; n

T
= 32

A= 960mm

n
L
= 18 ; n

T
= 44

A= 1440mm

n
L
= 24 ; n

T
= 56

A= 1920mm

n
L
= 30 ; n

T
= 68

A= 2400mm

n
L
= 36 ; n

T
= 80

A= 2880mm

m [kg] m [kg] m [kg] m [kg] m [kg]

0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2

801) t= 0,16 0,19 0,22 0,25 0,18 0,22 0,26 0,29 0,21 0,25 0,3 0,23 0,23 0,28 0,33 0,37 0,25 0,30 0,35 0,4

1602) t= 0,24 0,29 0,34 0,38 0,28 0,34 0,40 0,45 0,31 0,39 0,45 0,35 0,35 0,43 0,50 0,56 0,38 0,46 0,54 0,61

2403) t= 0,32 0,40 0,46 0,52 0,38 0,47 0,54 0,61 0,43 0,53 0,61 0,47 0,47 0,58 0,68 0,76 0,51 0,63 0,74 0,83

s [mm] t [s]

n
L
= 42 ; n

T
= 92

A= 3360mm

n
L
= 48 ; n

T
= 104

A= 3840mm

n
L
= 54 ; n

T
= 116

A= 4320mm

n
L
= 60 ; n

T
= 128

A=4800mm

n
L
= 66 ; n

T
= 140

A=5280mm

m [kg] m [kg] m [kg] m [kg] m [kg]

0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2

801) t= 0,27 0,33 0,38 0,43 0,28 0,35 0,41 0,46 0,60 0,37 0,43 0,49 0,31 0,39 0,45 0,51 0,33 0,41 0,48 0,54

1602) t= 0,40 0,50 0,58 0,66 0,43 0,53 0,62 0,70 0,45 0,56 0,66 0,74 0,48 0,59 0,69 0,78 0,50 0,62 0,73 0,82

2403) t= 0,55 0,68 0,79 0,90 0,59 0,73 0,85 0,96 0,62 0,77 0,90 1,01 0,65 0,81 0,95 1,07 0,68 0,85 0,99 1,12

1) 2) 3)



B

B

D E

C

C

100

120

55 ±0,01

50

22,5 ±0,01

30

16
0

23
6

185 331,5

A + 307

A

23
4

351

31
1,

32

115

M6x18/22 (4x)

6H7x14 (2x)

F

LF100



s [mm] t [s]

n
L
= 10 ; n

T
= 28

A= 1000mm

n
L
= 15 ; n

T
= 38

A= 1500mm

n
L
= 20 ; n

T
= 48

A= 2000mm

n
L
= 25 ; n

T
= 58

A= 2500mm

n
L
= 30 ; n

T
= 68

A= 3000mm

m [kg] m [kg] m [kg] m [kg] m [kg]

0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2

1001) t= 0,16 0,19 0,22 0,24 0,18 0,22 0,26 0,29 0,21 0,25 0,29 0,32 0,23 0,28 0,32 0,36 0,25 0,30 0,34 0,39

2002) t= 0,24 0,29 0,33 0,37 0,28 0,34 0,39 0,44 0,31 0,38 0,44 0,49 0,35 0,42 0,48 0,54 0,38 0,46 0,52 0,59

3003) t= 0,33 0,40 0,46 0,51 0,38 0,46 0,53 0,60 0,43 0,52 0,60 0,67 0,47 0,57 0,66 0,74 0,51 0,62 0,72 0,80

s [mm] t [s]

n
L
= 35 ; n

T
= 78

A= 3500mm

n
L
= 40 ; n

T
= 88

A= 4000mm

n
L
= 45 ; n

T
= 98

A= 4500mm

n
L
= 50 ; n

T
= 108

A=5000mm

n
L
= 55 ; n

T
= 118

A=5500mm

m [kg] m [kg] m [kg] m [kg] m [kg]

0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2

1001) t= 0,26 0,32 0,37 0,41 0,28 0,34 0,39 0,44 0,30 0,36 0,42 0,47 0,31 0,38 0,44 0,49 0,33 0,40 0,46 0,52

2002) t= 0,40 0,49 0,56 0,63 0,43 0,52 0,60 0,67 0,45 0,55 0,63 0,71 0,47 0,58 0,67 0,75 0,50 0,60 0,70 0,79

3003) t= 0,55 0,67 0,77 0,86 0,58 0,71 0,82 0,92 0,62 0,75 0,87 0,97 0,65 0,79 0,91 1,02 0,68 0,83 0,96 1,07

1) 2) 3)

        240mm
      500mm und 1000mm



80 ±0,01

B

D E

B

115

37
6,

64

353

23
4

30

125

22,5 ±0,01

50

185,5 331,5

23
8

A

A+372

M6x18/22 (4x)

6H7x14 (2x)

C

C

120

24
0

F

LF125



s [mm] t [s]

n
L
= 8 ; n

T
= 24

A= 1000mm

n
L
= 12 ; n

T
= 32

A= 1500mm

n
L
= 16 ; n

T
= 40

A= 2000mm

n
L
= 20 ; n

T
= 48

A= 2500mm

n
L
= 24 ; n

T
= 56

A= 3000mm

m [kg] m [kg] m [kg] m [kg] m [kg]

0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2

1251) t= 0,17 0,20 0,23 0,25 0,19 0,23 0,26 0,29 0,22 0,26 0,29 0,32 0,24 0,28 0,32 0,36 0,26 0,30 0,35 0,39

2502) t= 0,25 0,30 0,34 0,38 0,29 0,35 0,40 0,44 0,33 0,39 0,45 0,49 0,36 0,43 0,49 0,54 0,39 0,46 0,53 0,59

3753) t= 0,35 0,41 0,47 0,52 0,40 0,48 0,54 0,60 0,45 0,53 0,61 0,68 0,49 0,59 0,67 0,74 0,53 0,63 0,72 0,80

s [mm] t [s]

n
L
= 28 ; n

T
= 64

A= 3500mm

n
L
= 32 ; n

T
= 72

A= 4000mm

n
L
= 36 ; n

T
= 80

A= 4500mm

n
L
= 40 ; n

T
= 88

A=5000mm

n
L
= 44 ; n

T
= 96

A=5500mm

m [kg] m [kg] m [kg] m [kg] m [kg]

0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2

1251) t= 0,27 0,33 0,37 0,41 0,29 0,35 0,40 0,44 0,31 0,37 0,42 0,46 0,32 0,38 0,44 0,49 0,34 0,40 0,46 0,51

2502) t= 0,42 0,50 0,57 0,63 0,44 0,53 0,60 0,67 0,47 0,56 0,64 0,71 0,49 0,58 0,67 0,74 0,51 0,61 0,70 0,78

3753) t= 0,57 0,68 0,77 0,86 0,60 0,72 0,82 0,92 0,64 0,76 0,87 0,97 0,67 0,80 0,91 1,02 0,70 0,83 0,95 1,06

1) 2) 3)

      250mm
      500mm und 100mm



B

M8x18/22 (4x)

8H7x16 (2x)

150

85 ±0,01

80

32,5 ±0,01

60

B

314,8

33
3*

401*

A

A + 630

62
9,

96

27
2*

511*

150

C

C

200

46
7

D E

F

LF150



s [mm] t [s]

n
L
= 7 ; n

T
= 26

A= 1050mm

n
L
= 12 ; n

T
= 36

A= 1800mm

n
L
= 16 ; n

T
= 44

A= 2400mm

n
L
= 20 ; n

T
= 52

A= 3000mm

n
L
= 24 ; n

T
= 60

A= 3600mm

m [kg] m [kg] m [kg] m [kg] m [kg]

0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2

1501) t= 0,28 0,30 0,32 0,34 0,30 0,33 0,35 0,38 0,32 0,35 0,38 0,41 0,34 0,37 0,40 0,44 0,35 0,39 0,43 0,46

3002) t= 0,39 0,42 0,46 0,48 0,42 0,46 0,50 0,53 0,45 0,49 0,54 0,57 0,48 0,53 0,57 0,62 0,50 0,56 0,61 0,65

4503) t= 0,52 0,56 0,60 0,64 0,56 0,61 0,66 0,70 0,59 0,65 0,71 0,76 0,63 0,69 0,75 0,81 0,66 0,73 0,80 0,86

s [mm] t [s]

n
L
= 28 ; n

T
= 68

A= 4200mm

n
L
= 32 ; n

T
= 76

A= 4800mm

n
L
= 36 ; n

T
= 84

A= 5400mm

n
L
= 40 ; n

T
= 92

A=6000mm

n
L
= 44 ; n

T
= 100

A=6600mm

m [kg] m [kg] m [kg] m [kg] m [kg]

0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2 0,5 1 1,5 2

1501) t= 0,37 0,41 0,45 0,49 0,39 0,43 0,47 0,51 0,40 0,45 0,50 0,54 0,42 0,47 0,52 0,56 0,43 0,49 0,54 0,58

3002) t= 0,52 0,58 0,64 0,69 0,55 0,61 0,67 0,73 0,57 0,64 0,70 0,76 0,59 0,66 0,73 0,79 0,61 0,69 0,76 0,82

4503) t= 0,69 0,77 0,84 0,91 0,72 0,81 0,88 0,96 0,75 0,84 0,92 1,00 0,78 0,87 0,96 1,04 0,81 0,91 1,00 1,09

1) 2) 3)

      300mm
      450mm und 1050mm



      

j

j

j

j

j

j

j

j

j

j

j

j

j

j

TIC



I0

I1

I2

I3

I4

I5

CI

CI

SC

S1

S2

S3

S4

MA

MC

L1

N

O0

O1

O2

O3

CO

PC

T1

T2

T3

N

L1

L1

N

C3

P1

**

Schematic for single phase model

       *        

1x230V / 50Hz

PLC

+24V



Rudolf-Diesel-Str. 14    D 86554 Pöttmes    Fon +49 (0)82 53-99 65-0    Fax +49 (0)82 53-99 65-50    info@taktomat.de    www.taktomat.de

A

n
L
=10

 LF080

 LF100

 LF125

 LF150

 



Rudolf-Diesel-Str. 14    D 86554 Pöttmes    Fon +49 (0)82 53-99 65-0    Fax +49 (0)82 53-99 65-50    info@taktomat.de    www.taktomat.de

 

    

    

     

   24V DC

     230V AC

     400V AC

       

  RAL7016                   

       



TAKT MAT
passion for automation

Rudolf-Diesel-Str. 14    D 86554 Pöttmes    Tel +49 (0)82 53-99 65-0    Fax +49 (0)82 53-99 65-50 

info@taktomat.de    www.taktomat.de

LF
-C

-O
ct

ob
er

 2
01

1

AMERICA

Motion Index Drives, Inc

Troy, MI 48083

T: +1 248 743 9999 

www.motionindexdrives.com

info@motionindexdrives.com

Europe

ASIA

Automatic System Partners, S.A.

Nogal 8, 28110 Algete 

T: +34 916290 900  

www.asp-es.com 

info@asp-es.com

Automatic System Partners, S.A

4200 - 150 Porto 

T: +351 225 500 743  

www.asp-es.com 

info@asp-es.com

Poul Johansen Trading

DK-4540 Faarevejle 

T: +45 5118 6331  

www.pjt.dk

pja@pjt.dk

Jarkope OY 

02610 Espoo 

T: +358 9 8190 3222  

www.jarkope.fi 

jarkko.rahikka@jarkope.fi 

Artifl ex Handelsgesellschaft mbH 

2000 Szetendre 

T: +36 265 000 47  

www.artifl ex.hu 

mrazikl@artifl ex.hu 

TechMotion Trading Co.,Ltd.

Suzhou 215128, P.R. China

T: +86   137 3262 0265 

www.tech-motion.com

info@tech-motion.com


